
1 Hour

LPD STOCKHOLM 1 DRAWER BEDSIDE CABINET

PLEASE KEEP THE ORIGINAL PACKAGING UNTIL THE ITEM IS FULLY ASSEMBLED AND IN PLACE.
IN THE UNLIKELY EVENT THAT YOU NEED TO RETURN YOUR PRODUCT, IT MUST BE RETURNED IN
ITS ORIGINAL PACKAGING TO AVOID FURTHER DAMAGE. FAILURE TO COMPLY TO THESE
PROCEDURES, NO RETURN'S WILL BE ACCEPTED.

Assembly Instructions - Please keep for future reference

1

50CM
39CM

40CM



Parts No Description Qty
A Side Panel - L 1
B Side Panel - R 1
C Drawer Side Panel - L 1
D Drawer Side Panel - R 1
E Top Panel 1
F Bottom Panel 1
G Drawer Back Panel 1
H Drawer Front 1
I Wooden Leg 4

Drawer Bottom 1
Back Panel 1

Exploded View

Components - Panels
Please check that you have all the components listed below before constructing your items.

I

A

B

C

DG

H

F

E

2



CB Screw 4 x 38mm

4 units

(A) (B) (C) (D)

(E) (F) (G) (H)

(I) (J) (K) (L)

JCBC Screw 8 x 40mm

4 units
Corner Support (AC101)

2 units

Cam Nut

6 units

CB Screw 3.5 x 20mm

4 units

PVC Sticker 25mm

4 units

CB Screw 3.5 x 14mm

4 units
Allen Key M4

1 unit

Allen Key M5

1 unit

Cam Bolt

6 units

Wood Dowel 8 x 30mm

10 units

Unitar Screw 7 x 40mm

4 units

(M) (N) (O)Drawer Slide 14”

1 set

Drawer Slide 14”

1 set

Euro Screw 6 x 8mm

4 units

3 

COmponents - Fixings
Please check that you have all the components listed below before constructing your items.

Note: The quantities below are the correct amount to complete the assembly. In some cases more fittings 
may be supplied than are required.

Tools Required

Ruler -  Use this to measure your screws (mm)



E

4

Step 2

Step 3

Step 1

Assembly Instructions

A B

C x 8

B x 4

A B

J x 4



2nd Hole 2nd Last Hole

Step 5

Step 6

Step 4

5

O

M

O

M

A

B M x 1 O x 4

F

GE

I

I

I

E

L

G x 4E x 4

H

B x 2



D

C
G

J

C

C

D

Step 8

Step 9

Step 7

6

J x 2C x 2

A x 4



H

B
J J

1st Step 2nd Step

E

A

B

Step 11

Step 12

Step 10

7

B

J

1st Step 2nd Step

H
N

H

N

N x 1 H x 4

L

R



K

F

Step 14

Step 13

8

D x 4



1st

2nd

3rd

H

Rear View

Step 16

Step 15

9

I x 2F x 4



COMPLETE

10


